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Key Stem Sentences 

• ___ is tall / short.  

Key Representations 

Coins  
 

 
 

 

 

 

There is one 50p coin and two 2p coins.   There are three 10p coins, one 5p coin and one 1p coin, 
The amount is 54p.      The amount is 36p.     

 
 

 
There are two 20p coins, one 5p coin, one 2p coin and two 1p coins. The amount is 49p. 

Pupils will FLOURISH if they can... 

• accurately identify amounts of money in pence using coins. 

• accurately identify amounts of money in pence where the reverse side of coins are shown. 

• explain their understanding using written sentences, concrete apparatus and given representations. 

Rationale 

In this step, pupils build on their understanding of the value of coins from Year 1 to identify amounts of money in pence.  

Pupils will develop their learning by identifying amounts of money in pence where the reverse side of some or all of the coins are shown. 

Key Vocabulary 

• amount 

• pence / £=p 

• value 

 

Common Errors or Misconceptions 

• Pupils may miscount the number of coins and 
identify the amount incorrectly. 

• Pupils may not identify the reverse side of 
the 10p, 5p, 2p and 1p coins correctly. 

Master Money in Pence 
2M030 Overview 

Key Stem Sentences 

• There is / are ___ ___p coin(s) and ___ ___p coin(s). 

• The amount is ___p  
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